10/30/2019 techCONNECT Content

1 CAP,Qil Filler

https://dealerconnect.chrysler.com/portal/Controller/Portal 1/3



10/30/2019

techCONNECT Content

05175447AA Yes EXL JU 74
68047194AA Yes EXL JU 74
2 SEAL,QIl Fill Cap
05080088AA No EXL JUu 74
3 HEAD,Cylinder,Right
4 BOLT,[8 Per Cylinder
Head]
Mounting, Cylinder 05175446AA No EXL Ju |74
Head
5 BALL
05138265AA No EXL Ju 74
6 BOLT,Hex Flange
Head,M8X1.25X90.00
Mounting, Cylinder 06104035AA No EXL Ju |74
Head
7 BOLT,[M8 X 35]
Mounting,Cylinder
Head Two In Right 05096986AA No EXL Ju 74
One In Left
8 HEAD,Cylinder
Left 68042277AA Yes EXL JU 74
Left 68041689AA Yes EXL JU 74
Left 68055780AA Yes EXL JU 74
9 BOLT,
[M6X1.00X35.00]
Mounting Right
Side, Cylinder Head 06104009AA No EXL JUu 74
Mounting Left
Side,Cylinder Head 06104009AA No EXL JU 74
10 BOLT, Torx Socket
Head,M6X1.00X20.00
Mounting Right
Side,Cylinder Head 06104006AA No EXL JU 74
Mounting Left
Side,Cylinder Head 06104006AA No EXL JU 74

https://dealerconnect.chrysler.com/portal/Controller/Portal

2/3



10/30/2019

techCONNECT Content

11 PLUG,Core
Three Per Cylinder | 45080026AB | 6 No EXL Ju |74
Head
12 | sTUD
Mounting,Six Per 05080027AA | 4 No EXL Ju |74
Cylinder Head
13 GASKET,Cylinder
Head,Left
05175445AA | 1 Yes EXL Ju |74
68039437AA | 1 Yes EXL Ju |74
14 | DOWEL PIN
Right Gylinder 05175383AA | 2 No EXL Ju |74
Head,Rocker
Left Cylinder 05175383AA | 2 No EXL Ju |74
Head,Rocker
15 GASKET,Cylinder
Head,Right
05175444AA | 1 Yes EXL Ju |74
68039436AA | 1 Yes EXL Ju |74

Note: Negative (-) item numbers indicate no illustration available.

https://dealerconnect.chrysler.com/portal/Controller/Portal

3/3



